Distributed By

Rosenberger

C10854701C—4R278 SABRE 12" HC/HD SQUARE TENSION PLATFORM

ITEM | QTY. | PART NO. DESCRIPTION WEIGHT
1. 2 C10110304 | QUAD COLLAR BRACKET ASSEMBLY 520
2. 4 CW01429 WELDMENT, ADJUSTMENT ARM 210
3. 4 CWO01430 WELDMENT, PLATFORM CORNER 1060
4. 4 CW01431 WELDMENT, UPPER ARM SUPPORT 346
5. 8 CS03695 ANGLE, CLAMP 23
6. 4 CS03696 SQ. TUBE, CROSS ARM 187
7. 4 10902026 | CROSSOVER PLATE KIT (SQ TUBE TO SQ TUBE) 36
8. 4 CS03354 PLATE, KICKER CONNECTION 30
9. 4 CWO01432 WELDMENT, KICKER CONNECTION 37
10. 3 CS03697 FLAT, KICKER 41
11. 4 CS03698 SQ. TUBE, 3 X 3 X 1/4 X 12’10 470
12. 4 C10901335 | PIPE, 2 7/8 0.D. X .203 X 12'—10 309
13. 32 C40026024 | BOLT ASSEMBLY, 5/8 ¢ X 2 1/4 A325 16
14. 38 C40026023 | BOLT ASSEMBLY, 5/8 ¢ X 2 A325 4
15. 16 C40140009 | BOLT ASSEMBLY, 1/2 ¢ X 8 A307 FULL THD 10
16. 12 C40094106 | THREADED ROD ASSEMBLY, 3/4 ¢ X 7 1/2 A36 20
17. 16 C40035109 | SQ. U-BOLT ASSEMBLY, 1/2 ¢ X 3 5/8 C-C 21
18. 3 C40034018 | U—BOLT ASSEMBLY, 1/2 @ X 5 1/16 C-C 11
19. 32 C40031002 | FLATWASHER, 1/2 ¢ HARDENED ASTM F436 1
20. 1 730992038 | MOUNT CLASSIFICATION TAG C10854701C 1
21. 2 C40062104 | STAINLESS STEEL SELF-LOCKING CABLE TIE 1
22. 16 C10902502 | CROSSOVER PLATE KIT (SQ TUBE TO PIPE) 144
23. 16 C10902025 | CROSSOVER PLATE KIT (PIPE TO PIPE) 144
24. 16 C10901329 | PIPE, 2 7/8 0.D. X .203 X 10'-0 963

| TOTAL WEIGHT 4605

[SOMETRIC VIEW

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16"

ANGLES £ 1/2 DEG.
DECIMALS #* .010"

MATERIAL:

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre |"d'-|5t"|€5)" SABRE 12' HC/HD SQUARE TENSION PLATFORM

Towers and Poles

(16) 2 7/8 ¢ X 10 ANTENNA MOUNTING PIPES

CONFIDENTIAL

This document and the information
contained herein is the confidential trade
secret property of Sabre Communications

Rosenberger Site Solutions, LLC Cerotscen copied o wsed n wnle ot | B 1T01Cr 0
S| , s sess v e [PATE___Toijoe/0| B | C10854701C-4278 | 0
visit www.RosenbergerOnline.us written consent of Sabre. DRAWN BY WRF SCALE PAGE
© 2020 Sabre Communications Corporation.
REV| DATE  PRW|CHK DESCRIPTION All rights reserved. CHECKED BY| DLW None 1 OF3




25)24

> w

— TYPICAL
(16) PLACES

> w

Distributed By

Rosenberger

Rosenberger Site Solutions, LLC
visit www.RosenbergerOnline.us

22)24) — TYPICAL

(16) PLACES

S—Y
o B
o
3
N -
? |
x
% )
| «I
Le B
0% ch
’”ﬁ.
X8
? r
s
UPPER CHORD PLAN LOWER CHORD PLAN
PLATFORM IS SYMMETRICAL @ 90°
UNLESS OTHERWISE SPECIFIED MATERIAL:

ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16"
ANGLES £ 1/2 DEG.
DECIMALS #* .010"

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre Industries’“)

Towers and Poles

REV|] DATE [DRW|CHK

DESCRIPTION

CONFIDENTIAL

This document and the information
contained herein is the confidential trade

SABRE 12" HC/HD SQUARE TENSION PLATFORM
(16) 2 7/8 ¢ X 10 ANTENNA MOUNTING PIPES

secret property of Sabre Communications
Corporation ("Sabre”) and must not be

reproduced, copied or used, in whole or in
part, for any purpose without the prior

written consent of Sabre.

© 2020 Sabre Communications Corporation.
All rights reserved.

SIZE DRAWING NO. REV
DATE 01/06/20 B C10854701C—4278 O
DRAWN BY WRF SCALE PAGE
CHECKED BY| DLW None 2 OF 3




HOLES ON 2" CENTERS FOR
POLE DIAMETER ADJUSTMENT

DETAIL B
(EXPLODED)

Distributed By

Rosenberger

Rosenberger Site Solutions, LLC
visit www.RosenbergerOnline.us

I

BACK TO BACK

10

T

SECTION A-A

(FROM PAGE 2)
TYPICAL 4 PLACES

4-9 7/16"

9
r = - 1 [N ‘//:’7 ::7 c‘ip\
i) I O o [ )
******* ' A4 ] —
(8 ~—1-~—T

N-SEE DETAIL B

<

UNLESS OTHERWISE SPECIFIED
ALL DIMENSIONS INCLUDE
FINISHES AND ARE IN INCHES

TOLERANCES: FRACTIONS + 1/16"

ANGLES £ 1/2 DEG.

DECIMALS #* .010"

MATERIAL:

TOLERANCES DO NOT APPLY
TO RAW MATERIAL

Sabre Industries’“)

Towers and Poles

REV|] DATE [DRW|CHK

DESCRIPTION

CONFIDENTIAL
This document and the information
contained herein is the confidential trade
secret property of Sabre Communications
Corporation ("Sabre”) and must not be
reproduced, copied or used, in whole or in
part, for any purpose without the prior
written consent of Sabre.
© 2020 Sabre Communications Corporation.
All rights reserved.

SABRE 12" HC/HD SQUARE TENSION PLATFORM
(16) 2 7/8 ¢ X 10 ANTENNA MOUNTING PIPES

SIZE DRAWING NO. REV
DATE 01/06/20 B C10854701C—4278 O
DRAWN BY WRF SCALE PAGE
CHECKED BY| DLW None 3 OF 3




	Sheets and Views
	C10854701C-4278-Layout1
	C10854701C-4278-Layout2
	C10854701C-4278-Layout3


